N of simulated tracks vs transverse vert position

N of associated tracks (simToReco) vs transverse vert position

N of simulated tracks vs z vert position

DOM_TT —mKFIT

DQM_TT_mkFit_BDT_

0.95

1072

107

1 10

| N of associated tracks (simToReco) vs z vert position |

10?

..................

=
4}
RARRNRARRN R

=
TTT T T

2 10—1

H
e

A S 0.5

N
N
o
=
o
N
o
o

N of simulated tracks vs.simPVz |

=20

-10

Il
(il
0

10

| N of associated tracks (simToReco) vs. sim PV z |




	Contents
	Page 1


